   [image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\1042537785\QQ\WinTemp\RichOle\J(MCS8D_2NSK6DP71DA3(TE.png]  [image: C:\Users\Administrator\AppData\Roaming\Tencent\Users\1042537785\QQ\WinTemp\RichOle\WEY~L5G{3)M7PL}IJ{V1PNA.png]


image1.png
1o HHE RS 2 VR (5T
PEIEURTERRGENT, I F B AR B ) AR A AP B E T IR,
ARWTF:
€=209/ (0.209+n0)
FEIETFIR (LEL) =0.55XC
JE IR (UEL) =4.8(C) 70.5
C— AT AR

L

20.9% 4 AR

n0—— AR UK SE AR BT 42 T 5

filtm

ket [ st
Gy TV AL TS — 200 T 45U P12 T K

Piki (LEL) =0.55X C=2.21%

% (UEL) =4.8(20.9/ (0.209+5) )40.5=9.62%

2. WP BT ARG B AR AR
PEETFIR (LEL) =1/ (0.1347n+0.04343)
$i4E B (UEL) =1/(0.01337n+0.05151)
n—r TR TR T




image2.png
3. PEFRLL LA
3.1, FEFFRE
X PR A L TR AR A AR TR AR el MRS AR RO )
PRBUNEL, AR SR AR A S TR R AR
TP LEL= (P14P2+P3) / (P1/LEL1+P2/LEL2+P3/LEL3)
CHEXE LBR) UEL= (P1+P2+P3) / (P1/UEL1+P2/UEL2+P3/UEL3)
P—— i A A IR I AR B
32, HFRFTAN
X PR AL AT RR TR A A R ] R LA, 1S T R AL AN R
L ARBEEAE ALAEH (v
EL=100/ (V1/EL1+V2/EL2
EL—— R AT AR R B B
ELn——JR £ {4 3R o #4013 st A AR L«
Vn——RALME IR R IR

CIRAL AR £ PR AR AR KRR IR 5

o SRR & R AR

AT RIS SCrTRHETE G 16 R AR, wTFIBLT 25t
EL=ELr/ (1-D+ (ELrXD) /100)

B AR IR PR A
LRI ok 0 AR B
D—H it AR





